01.

02.

03.
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05.

06.

07.

08.

R, ) s {7

sifers (MCQ)

736 ¢i6 A ¢ B 93 %@ A-B =7 - [Ans: b]
(a) ANB (b)A N B’ (c) A'UB (d) A’ UB

2,1,6,0, 5, 9 SFGTE 9 R W (B FOGTA AL 167 T @S AA? [Ans: d]
(a)720 (b) 120 (c) 6 (d) 600

Note : [0 2T =1l 27 WHRMHE 7245 6!—5!=600]

QAT 419G 8 WHre “A[TSl I GT CFL@ 5 X 6° = 38880 HoF |
Taq, fFg ©f I @21 AR WBIR AE et |

Ji+V=i 97 99 @mfe?

(a) 0 (b) 1 ) V2 (d) £+/2
E: (C):; \/f+«/—7i=—\/l—_2‘(1+i)+%(l—i)=«/§
A W=41+2j—3k @R V=Ai—2]+3k (ST R~ 79 T, TE A @ T @02
13
(a) =3 (b) 2 © = @1
ST (c); 4 —4—9=0, 41:13,7L=1—4§
1 ® o
©® ®° 1 | 93 9 @Eit?
0 1 ®
(a) 1 (b) ® (c) w2 (d) 0

srdE: (d); 1+ o+’ =0

@1 Rt 2fSBitT 400 & =Itad TT4 240 S =i @3z 180 T @res St itz | 7 20 oW =@ @I orE
1 fAe, ©13 o Tox ot Rit? |

(a) 1 (b) 205 (c) 35 " (d)40

Tae: (d); n(AwB)=n(A)+n(B)-n(ANB) =380=240+180-n(ANB) ..n(ANB)=40
qF fE @I ZI0F TSI TN GO 4 TRET (@ T Q2 AR FTNF TO 3 W3 (@05 (FhS 95T | ©F TS
e T2 :

(a) 24/5 miles/hour  (b) 12/5 miles/hour  (c) 24/11 miles/hour (d) 24/7 miles/hour

TargE: (d); €1, W@e=x .. 2X =‘51§:;>2—)Il = NG W:E
X X 7x 7
(4 3] 12
3
y=lengxw-j—x—¥gamﬁ-
X X 2 2
(@) —— (b) - (c) —— (d) —
2 2 X X




=) a8
|

Y

TngE: (d); y = x° log x = —==x>.—+2xlogx =x + 2x logx

X
2 3
= H—1-1-223~£l+21¢:1g;}-: =14+2+2logx .. d};=2
dx X dx~ x
09. [ T s 2= %, gy oinx X Ane:
V1-x° V1-x*
(I:l) ems ' +C (b) esin"x (E) esin_'; +C ' (d) ems";
Ne
10. " ffrws | o
- 1+x
m i s I
a) — b) — C) — - d) —
(a) y (b) 5 (c) ” (d) T

T (d); [[‘ﬂ“_’ x]” = tan 3 - tan"!1 % _i‘i L %}

1. 3-,/:**:+iy=p+ifqW‘r£+z 93 T\ FS7?
P q

2 2
@ p* -’ 5 © 4p’-a?) @B

TE:(e); X +iy =p’ +3p’iq+3pi’q’ +i’q’ =p’ —3pq® +i(3p’°q—q’)

, X X
x = p* —3pq’ .-.;=1;,*-’='-3::12 & y=3p’q-¢q’ _-%:3;,2-(12 -‘-E+§=4(p2—q2)

2. sInB (= cot 93 TG LI FT 8 [sin O = : : [Ans: a]
cosecd ] =
1 1 ]
(a) + (b) —— (c) (d) +
x/1+cut 0 V2 +cot’ 0 \/_+cnt ~»/L—w:«:ntzlé}
13. sin 27°+ cos 27° @9 TN 5?2
(a) V2 cos18° ®) —v2 cos18  (c) -L in18° (d) D——L sin 18°
J2 J2
TYE: (a); sin27° +sin63° = 2sin45°cos18° =+/2 cos1 &°
14. cosec (—660°) @7 7 77?2 '
2 ] 5 2
(@) = (b) — ) = —
7 7 © 7 95
2
AA149I9:.(a); —cosec|2x360° —60° )=cosec60’ = —
(o360 - 3
15. «3fb IWT> Gren o e 19.6 m/sec mwﬁm@ﬁwwwm{h _ Z_J[Ans c]
g
(a)4.9m (b) 9.8 m (c) 19.6 m (d) 29.4 m

5 ARITETTA ST g7 #IepeTl. . |

JECC N o )
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16. @3 =18l o 8 km (0 5e1CR | T8I (A0F TB/F 16 km Q@ @36 38 @I s s wacer 38 o

CATHT AT FANCPICA D] ?
(a) 60° (b) 120° (c) 90° (d) 30°
wrgr: (b); 10— 8

~.0=60"

sin90° sin(‘){}“—ﬂ)
Fear e @t =180° -60° =120°

17. x*+y* —4x + 6y — 36 =0 @32 x* + y* — 5x + 8y — 43 = 0 38 73567 4R TT. @7 ATNwq 2 3
(a)x+2y-7=0 b)x+2y+7=0 (c) x=2y-7=0 (d)x-2y+7=0
TYE: (d); hints. ¢, —c¢, =0, @INT ¢ IS | |

18. X— 9CF y = sinX I&F @ 9T 519 91 W7 CHEd CFASEAT TF F97?
(a) =« (b) n2/2 (c) 1 © (d)2

T

st (d); Area = j sinxdx =2

0
19. 16x* + 25y = 400 $-IJ0aa TRETHS! F67
(a) 0.6 (b) 0.4 (c) 0.8 (d) 0.5

2 2
st (a); | oY= ce= [1-0 -3
25 16 25 5

20. foA T 991 @3t e o a9 @ e TR @t | Tl TRese @l T @
(a) 60°,60° and 240°  (b) 90°,90° and 180° (c) 120°, 120° and 120° (d) 150°, 150° and 60°

P P
FA4E: (¢); 1 = — SA=B=C..A=120°

sinA sinB ~ sinC

*frs (Written)

21. 3@ x* + 2bx + ¢ = 0 ANFAR TR o '8 B T, T o ¢ P2 71 Efere el M w1 o ¢ B @3 W @
foefa =31 | |
Wﬁﬁ:x2+2bx+c=0;a+[3=—2b. cx|3=c;u2+B2=(u+B)i—2uB=4b2—2¢
azﬁﬁzqﬁﬁfﬁ‘lﬁﬁ@ﬁf—(az+ﬁz)x+az|32=[]
=X —(@b°-2c)x+c’=0 =>x*-22b*-c)x+c2=0

o= —2b+V4bZ-4c B = —2b-v4bZ—4c
- 2 L 2

22, FHF T /(x% —3x+6)—x2 —3x+3 =1

Ty (X2 —3X +6) —VxZ —3x +3=1 = Vx? —3x+6 =1+ x% —3x +3

—x?—3x+6=1+%x>—3x+34+2vx%> —3x +3

—2=2Vx2-3x+3 =x*-3x+3=1 x> =3x+2=0
S x-2x-x+2=0 =x(x-2)-1x-2)=0 = (x-1)(x-2)=0 =x=1or, x=2 |

BN | 0 T
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23. Y 9 (Solve) : 4 cosx cos2x cos3x=1;0<x<nm

AACH: 4 cosx cos2x cos3x =1 = 2cos2x (2cos3x cosx) = 1 (1) 8 (i1) Z© A1}
=> 2¢0s2x (cos4x + cos2x) = 1 = 2co0s2x cosdx + 2c0s22x = 1
=> 2¢082X cosdx + 2cos22x —1 =0

Whenn =0, X=E,£
8 3

=> 2c0s82x cos4x +cos4x=0 = cosdx (2cos2x + 1) =0 I 3t 2n
cosdx =0; x=(2n—1—1)ﬂ >(1)nez 5 3
ST
' n= 2, X=—
1 2T 2T 8

Again. cos2x = —5= CGS? = 2x=2nn+—

3 n=3,x=ZE (Ans.)
T . 8
.‘.x=n:rri3 > (11)
24, y =3 @ @R AT @ @Ay = (x — 3)° (x—Z)WWﬂWﬁT“Pﬁ?ﬁ?ﬁﬁ@ﬁﬁm
Ao w1
Ww:y=(x—3) (x—2) Iqx =3
X OF ACATE ST I AR theny =0
Y o 2(x-3)(x-2)+ (x—3)’ S
dx - 2Y (1 4
dy then y: -3/ |3 = y=—.
ey = ?wmwmwvﬁd}{ =0 27
L 2(x=3)(x=2)+(x-3)'=0 = (3x=T) (x=3)=0 | - W T2(3,0) ¢ (3 27] (Ans.)

Sx=3.7/3
25. 3x+4y—-11=049aR 12x — S5y — 2 = 0 @RIAT TITO! PRI FAGIGLEF Ao o7 399 |

SR 2 S 3x+4y—11 12}: Sy-2
VvI9+16 \/144+25

}mm

a,x+by+c, =0
a,Xx+b,y+c,=0

a,a,+bb,>0 = (—) oF g ==
3x+4y-—ll=+123{—-5y—2
3 13
aja; +bb,=36-20=10>0 .. (-) oz fwx sPacE At
13 3x + 4y —11) = =5 (12x — Sy — 2)::-39x+52y—143=—60x+25y+10
= 99x +27y—-153=0 (Ans.)
26. @ fare famee P e Q e q2f6 atem wifd Q Ite fraed A 60° ¢t Beoly Fea | Q FEBTE fawet T
T (P17 30° T | ERIAEE TR A 30° 20 | P ¢ Q a7 wwfe @i fdy o9 |
AATY: YT CFLAs IR,

a,a,+bb, <0 = (+) oz @] =

2Q

RQ=60°, RP=a—60°, PQ=q

feoiw s

R'(2Q)=30°, R'P = 0. — 60° —30° = 30°
oa=120°

IR 0 | T
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27. 16 m <y &2 200 kg e&tae @b AW AT YR ANT I 520 S<emea Sorg I Amy<Ew ez 1 160
kg &I G0 1F N0 ST (T WIGITE ST F209 ST I Ao S 1 : 2 |

TrgE: Here, R1+R, = 160 + 200 = 360 kg < Xm 4160 kg
Taking moment at A we get. A C
160 xx+200x8—-Ryx1=0 | y\
= R, =10x + 100 Rl_‘ > | *Rg
= R, =260 - 10x j260_}(}}{=E:>20x+200=26(}—10x
2 R 1
%'T%R—%E = 30x =60 = x =2m T A diw e 2 e g
l

28. @ifere we fefa w0 Ie“cnsx dx
Aa1qE: Let, 1 = _[e" COSX dx_=cnsxje“dx —I[% (cosx) Ie“dx) dx

=cosxe’ +I5inx e*dx.=cosx. e* +sinx.e* —Icnsx. e* dx

EJ{

=cosx.ex +sinx.ex—I = 2I=(cosx +sinx)ex ..I= > (cosx +sinx)+C (Ans.)

29. x @ ST 43 wees 7o Ffr 991 (a) y=tan™ i+bx (b) y'=\/sinx/;
dX

4, a+bx E"rx (b) y=\/sin Jx
ANIYE:(a) Y = tan = y=tan"' b i
b—ax a ay 1 5 ]
-5 x = COSV X X
b dx ZJSinJ; 24/x
= y=tan_] %}"’tﬂﬂ_l(x). jif L= 5 cosvx
1+ x 4J;JﬂnJ;
IR Afstary 39 e <9 |

rE: Fx =mg(h +x) = Fx2=4x9.8(150+2) ..F=29792 N

1™

smrdiRe (MCQ)

0. W p=4i—4j+k @@ k=2i-4j-k otam 93l smrefiees 73 ke g Fom w@ o= Taw
CFaTE TA—
(a) J32 sq. unit (b) 81 sq. unit (c) V164 sq. unit (d) J98 sq. unit

AATYE: ()3 ﬁ=4§—4j+ﬁ; E:2§—43—f§:

L] ~

1]k
pxk=[4 -4 1|=i4+4)—j(—4-2)+k(-16+8)=8i+6]—8k
2 -4 -1 -

|ﬁxﬂ=\/82+63+(—8)2 =m = NRSASa CFaga

JELER ) o | T
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02. qumaﬁﬁﬂ%wm@lﬂmﬂwﬂmmmwwmwww@mﬂqaﬁ?
(a) 15 m/sec? (b) 20 m/sec? (c) 10 m/sec’ (d) 30 m/sec’
TAYH: (C); 10=u+éxa(2x2—l)=u+%a

20=u+%xa(3x2—1)=u+§a s.a=10ms™

03. @3> IFTF 196 m/s @ ST otz fce o=t w1 ze=m 1 20 sec It ¥ @7 ™I- [g=9.8 m/s?).
(a) 50 m/s (b) 60 m/s (c) Om/s (d) 10 m/s
AgE: (€); v=u—gt =0 |

04. wﬁqmmﬁmwmwawwmmm-

(a) 30° (b) 45° (c) 90° (d) 0°
g (d); W =F.Scos0, T35 cosO ﬂ?IWWWWW'Wml
cosf=1 ..0=0"°
05. 3 5 kg 3@ @36 I (A& 20 gm S @36 o 1000 m/s +fere et 2 w3 T PHIR (@ F©?
(a) 4 m/s (b) 40000 m/s (c) 40 m/s (d) 4 cm/s
Tag=: (a)s MV =—mv ..V =- : 00(?'02 =—4m/s
06. @0 39 @ETTFa ey WoRfGa fRed | T8 e (areTes (w3 sec X0 eBT CRIETIET 2ra—
(a) 4.24 sec (b) 4.54 sec (c) 5.54 sec (d) 5.0 sec
sryr: (a); T oc /L —:ll:—‘ = —21—1:— =T, =/2x3=4.24sec

07. @3 ZRC WA 4= cFrem 39 ot Siffae @ 40 SR T99 | 947 (FEE O3 SE T 1.00
mm | SIfFR &7 Fo7?
(a) 0.010 mm (b) 0.020 mm (¢) 0.025 mm (d) 0.100 mm ]
TANYA: (€); TR FAACR ANT = = CHETT 15 + SR CFE =% x S 99 + T oo

=40=39+40xV_+0 ..V, =0.025mm
08. (I SINIEl GTARTART € FIATZIZT CHe GF3 AIWIT FIT—

(a) 0° (b) — 40° (c) 32° (d) 100°

~32
sTe: (b); ::x 5 x=—40°

09. @G et G 227° SIN@T Bref A2 307 @ 77°C SIATAT Ol I&F I | SfGrg vy e —

(a) 70% (b) 35% (c) 30% (d) 27%
227-77

q+: (¢); N = x100% = 30%

FAYE: (€); M 500 0 0
10. SISl ST @Al AT 00—
(a) MLT™ (b) ML™'T (c) ML™'T™! (d) MLT
F dv MLT? LT .
TEE: (€); —=n—=n|= 2 =ML"T
@ 3 =Ny In]=— 3




SfEfamiae se epganes % ‘N é KUET, CUET, RUET &4 8 JNI¢Td

11. 529 +ifSq (F0a, ST @I 1% AHAITCSII AT I (ST IFOrS 3

(a) reflection (aifSwe) (b) refection (&if o)
(c) interference (o) (d) polarization (3T93%)
TE: (d); TG ST O N9 784 | (P8 oFa A Saewg ST A
12. rem@arse grad Reds wwee siread ¢ | [Ans: c]
D Vv D 1 1 - 1(1 1
(a)m=1+F (b)m=U—Z(1+—E] (c) m=fﬂ[D+fc] (d)mzfﬂ(D-}-fJ
13. I 90 IEF T (AT WAt o APIER IZF FIoF T4 W OF 2AfSfT Ta— ‘[Ans: d]
(a) virtual, erect (B, T (b) virtual, inverted (W%, T=51)
(c) real, erect (I/E9, AT9) (d) real, inverted (IR=2<, ©=51)
14. For @t ofer perdw oo 737 [Ans: ]
(a) Gamma ray (5Ts1 ) (b) Ultraviolet (Sfs @&t)
(c) Ultrasonic (*It3as) (d) Microwave (X% ©9%)
15. 220V, 40W a3 110V, 40W @1 13 TEHT 0T @Ned Naire zo=—
(a)1:2 (b)1:4 (c) 2:1 | (d)4:1
Aa14E: (d); L. V‘j X By
R, V,; P
16. @ FEIET A @y TgAfed o (o 22 kW FTo[ 2@es | 220 V AT T6 AR o0 IS Q1%
IZTHY O FMITS TA?
(a) 10 A (b) 100 A (c) 22 A (d)48.4 A

TargE: (b); P=Wi
17. a0 GEEFINET T € (N9 TSS9 A 72477 TG 100 @32 200 | T FoATe @eow 220 V I, ¢

TS & “Afewe ot i 2012
(a) 22 KV (b) 44 KV " (c) 440V (d) 440 KV
T (€);3 L.

Vl VE

18. 9Q) @NYH WF SIE SHLT WFeq WA e© @ (B fomed o4 Fa1 2o | €2 W SR @Y TI—

(2) 9 O (b) 81 O © 720 (d) 243 O
g (b); R'=n’ xR
19. @ FE -Afaasl R 2R aos-Meaer Fa B TIw— [Ans: a]
(a) Rectifier (b) Thermistor (c) Capacitor (d) Transformer
20. I @ SERT @R e afem i 1 g S @t o, ok fefe e x@—
(a) 9 x 10"] (b) 9 x 10"] (c) 3 x 10'%] (d) 4.5 x 10"]

sgE: (b); E =mce’

B o |
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21. 25 x 10~°m w5 iy RféfR @B oo i ot wate 2a—

(a) 7.35x 10" ] (b) 6.95 x 1077 ] (c) 7.95x 1077 ] (d) 6.45 x 1077 J

Solve: (¢); E = Pf— h=6.63x10" Js

22, A S @A 1.0gm N, 7 9o 367?

(a) 22.4 dm’ (b)3.719 x 10 dm® (c) 0.8 dm’ (d) 6.023 x 10 dm’
22.4

MEIEICK (E); VSTP = E =(.8
23.  «ffa a7 ofer amfae wee oo T2 |

(a) 0.000279 (b) 0.000139 (c) 0.000093 (d) 0.000419

M 27
g (¢); E=—=
(©) = F = 3%96500 |

24. et AT e A T AT Tea goare— [Ans: b]

()7 A (b) Ifa = (c) f&m = (d)ZF 3w Tt @
25. 3 creipfam u7 o7 @fS 1.1688 amu =¥, ©= B39 95 e v

(a) 2177.47 Mev (b) 544.36 Mev (c) 1.1688 Mev (d) 1097 Mev

TiE: (d); E=me® =1.1688x1.66x107% x107° x(sxm“f +(1.6><10"9)+10'*‘ =1091.36 MeV
26. 10.0 cm’, 0.4M NaOH B39 st emifire ware vo wimed 1.6M Ho,SO, 53¢ aiia?
(a) 1.25 cm’ (b) 4.0 cm’ (c) 2.50 cm’ (d) 10.0 cm’
TE: (a); ¢S,V =¢,8,V, = 2x1.6xV, =1x10x04=V =125 cm’
27. a6 9IS WA IS viesa A 2o —

(a) 96500C (b) 6.023 x 10°C  (c) 1.6 x 107°C (d) 1.0 x 107°C
TaE: (¢); q=ne=1x1.6x107"°C

28. fom @miotE H, o= Renfas @t aray | ; [Ans: d]
(a) ZnO (b) Al,0O3 (c) FeO (d) CuO

29. T wzes e 2000 k) ore Sedme e [ AR SiRe SEe 2Ee Mee wa [t e
o ot == ¢
CH4+20;(g) — CO,(g) + 2H,0(g) AH =890 kJ/mol
(a) 14.37 gm (b) 7.12 gm (c) 55.46 gm (d) 143.8 gm

TarE: (d); W, =64%2000+890=143.8 gm
30. 0.015M KOH @3 pH %s?

(a) 60.9 (b) 1.82 (c) 13.12 (d) 12.18
ra: (d); pH = 14— pOH = 14+1og[.015]=12.18

31.* @G T JETR? [Ans: d]
(a) a-sulphur (b) B-sulphur (c) y-sulphur (d) A-sulphur

Bl e | TTT——

::r. |




32.* Ifea s sa— | [Ans: a]
(a) 5700 (b) 4700 (c) 6700 (d) 7700

33.* B39 1.50 cUiE @ @A feeaa 3.50 (e aIta Wiy @ e todt 94 =61 1 I O°C Sroma [es @ o™

(CsHp) @ 5137 (CgHsCH3) @3 Ir==iste I 40.55 KPa adr 20.24 kPa =¥, 3 o it Ir= s+

9 AA?
(a) 42.3 KPa (b) 40.50 KPa (c) 34.46 KPa (d) 35.40 KPa
14 (¢); P =40.55x% % + 20.24><1'5—5 =34.46kPa
34. 30°C sl farasat 9@ e 2a99a® (emf) “ifaweed cvta ST S{ead @Ei?

). 0.

(a) E=E°—- 059110gc (b) E=E“—002510gc
n n -

(c) E=E“—Elngc (d) E:E“—O'Oﬁllugc

nF n
g (d); E = E° — 2228600 C: T = 330K %, E = E° — 222 Jog C

nkF

35. % SENEAN @Ridred eoAFfore @@ fem, @rida @r@Re ua At [ 9 @ d4ie S Seeig 2a?

(a) Tolune (b) Propyl benzoic aicd
(c) Propyl benzene (d) Benzoic aicd
CHs CHj3
Nen”
STAI: (c): @ +CH,CH,CH,Cl - @), @

36. CpHz, ¢ @esid H-C-H 387 @ Ied s v [Ans: d]

(a) 109.5° (b) 180° (c) 90° (d) 120°
37. 5 gm 2@ 105 gm TS Galge S0 20 QRIS (N S $97

(a) 0.014 (b) 0.986 (c) 0.140 (d) 9.864

Wiﬂﬂ(h); nun-a =i“ nwatr:r = @ e xwmt'r a n‘-'-'ﬂlﬂr . 986

60 18 C N, 0

38. IR WHIHRG (CO) 8 2@eeH (H,) @ feers 300°C Srv@r Sae et Sriw S W sremT St ey =7

(a) 30w (b) facas (c) =LA (d) A [Ans: b]
39. O3 &) @I Afe Frs ot FET <= e 3 @TT I, JAECEH 8 TSRS a0 T SAGATS
eET— C:H:N=3:9:1; @b Seies Agee (@Hiv? [Ans: c]
(a) C3HoN (b) CH;3N (c) CoHz7Nj3 (d) C¢H;gN>
40. @ S TorerR v LEe Py b 0o [T NS (o | Fg FARrS JTand (SeieTs! T+ AArF I
15 cpm/gm =TSN (FT | APCTq FIST g7 ST (SHFTSN 25 cpm/gm T, S BT HSTSI 07 79
z@? [,,C ag 9y 5600 7=4]
(a) 4500.00 yrs (b) 3985.00 yrs (c) 4127 yrs (d) 2860.58 yrs
g (c); k= 435 t = l In—— = 60 lnE =4127 yrs

5600° k a—-x 0693 15

Sgw SN "

EI.F
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41. Which one of the Following is the correct voice of the sentence- Take care of your health.

(a) Let your health is taken care of (b) Let your health be taken care [Ans: c]
(c) Let your health be taken care of | (d) Let be taken care of your health

42.  Which one of the following is the correct voice of the sentence- He said to me," Thank you".
(a) He said to me thank. (b) He said to me thank you. [Ans: d]
(c) He said to me that thanked you. (d) He had thanked me.

43. The question was discarded because it was ambi guous. Choose the word-from the following

which would best keep the meaning of the given sentence if were substituted for the word

'ambiguous'. [Ans: a]
(a) incorrect (b) simple (c) biased (d) vogue

44. Hartal disrupts the road communication system- Choose the -word from the following which is
the most nearly 'opposite' in meaning of the word disrupt. | [Ans: a]
(a) enhance (b) atone (c) reoovate | (d) move forward

45. The adjective of the word climax is- [Ans: a]
(a) climatic (b) climatical (c) climactic (d) climacteric

46. Which of the following sentence has the incorrect use of pronoun? [Ans: b]
(a) I met a man, who is a teacher. (b) I, you and he are friends
(c) I, you and he are guilty (d) They love one

47. What kind of noun is the word class an the following sentence- There are ten classes in our
school. - [Ans: d]
(a) abstract noun (b) material noun (c) eonnrnon noun (d) collective noun

48. What kind of verb is the worst elected in the following sentence- We elected him chairman.
(a) Impersonal verb  (b) factitive verb (c) copulative verb  (d) causative verb |Ans: b]
49. The boy is fond of sweets. In this sentence the word sweets used here as noun to represent
(a) subject of verb (b) object of verb [Ans: b]
(c) coﬁmplement of verb (d) case in apposion

50. The references at the heads of sections in the votes which follow is to the translation. Which

underlined part of the above sentence is incorrect. [Ans: d]

(a) heads (b) follow (c) sections (d) is
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